7.44

The current |, in loop 1 is increasing. What is the direction of the
induced current in loop 2, which lies in the same plane as loop 17

—

l

‘A. The same direction as I, ‘
B. The opposite direction as I,
C. Thereis noinduced current
D. Need more information




The current |, in loop 1 is decreasing. What is the direction of the
iInduced current in loop 2, which lies in a plane that is
perpendicular to loop 1 and that contains the center of loop 17

A. CW

W
‘C. There is no induced current
. Need more information




7.47

A loop of wire 1 is around a very long solenoid 2.

d. = M.. 1. =thefluxthruloop 1 dueto
1 12 *2 . .
the current in the solenoid.

(I)2 — le Il = the flux thru solenoid due to
the current in the loop 1

ich is easier to compute?
A) M, | B)M,,

CJequally difficult to compute
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